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Y. What is the major conflict in the "Child by the Tiger"?
a. Between good and evil b. Between the whites and the negroes
c. Between the poor and the rich d. Between wise and fool

Y. What is the relationship between the poem "The Tiger" by Blake and the short story
"Child by the Tiger" ?

a. Both describe the tiger b. Both dramatize life

c. Both show the opposite sides of the creatures d. Both are literary works
Y. What does the quince tree symbolize in "The Japanese Quince"?

a. Green tre b. Mortality c. Life d. Immortality
¢. What does "The Japanese Quince" illuminate about life?

a. The sadness of the old b. Youth versus old

c. Passage of time d. Nature versus human
°. In "The Silver Crown", which option is true about Rabbi's character?

a. An authentic faith-healer b. A mystic

c. A clever confident man d. A fraudulent
1. What does the silver crown symbolize?

a. Faith b. Prayer c. Wealth d. Cure
Y. What kind of point view of is used in "Hills Like White Elephants"

a. Omniscient b. Objective c. First person d. Limited omniscient
A. What kinds of conflict do you observe in "Hills Like White Elephants"?

a. Physical- Emotional b. External-Emotional

c. Physical-External d. Internal-Emotional

1. Who or what is the scapegoat in "The Lottery"?

a. The lottery b. The stones c. Tessie Hutchinson d. Bill Hutchinson
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) +. What is the significance of the irony in "The Lottery"?
a. It affects the characters b. It underlies the story
c. Itis fun d. It shows people's ignorance
VY. What kind of irony is seen in "The Lottery"?
a. Irony of situa b. Verbal irony c. Dramatic irony  d. Implied irony
VY. Who is the protagonist of "That Evening Sun"? Is he/she a round or flat character?
a. Nancy-flat b. Jesus-round c¢. Nancy-round d. Jesus-flat
VY. "That Evening Sun" offers an unusual twist (regarding point of view), what
advantage does it have?
a. Children tell the story of adults objectively
b. Children tell the story of the children objectively Y
c. Adults tell the story of adults objectively
d. Adults tell the story of children objectively
V¢, In "A Hunger Artist" by Kafka there is a relationship between the ideal and the
actual in this life, which of the following statements expresses the relationship fully?
a. Ideal is in harmony with the actual b. Ideal is versus the actual
c. Ideal is the same as actual d. Ideal differs from actual
Y. What does the hunger artist symbolize?
a. Modem man b. Modernity c. Spirit d. Body

V1. Young Goodman Brown IS ..........
a. Allusive b. Ironical c. Satirical d. Allegorical.
VY. How is the atmosphere of " Young Goodman Brown" and what does it signify?
a. Bright- journey towards salvation b. Gloomy- human folly and regret

c. Gloomy-journey towards salvation d. Bright- the unity of human and faith
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YA. What is the significance of the title "Clay" for James Joyce's short story?

a. It signifies the theme b. It signifies the conflict

c. It signifies the plot d. It signifies the character
V4. What is the relation of piano song to Maria's life in "The Clay"?

a. It shows Maria's need for love b. It shows Maria's lack of interest in love

c. It shows Maria's sufferings d. It shows Maria's happiness
Y+. How do you characterize Miss Brill?

a. As a flat and static character b. As a round and dynamic character

c. As a flat and dynamic character d. As a round and static character
¥). Choose a statement that shows the theme of "Miss Brill"?

a. Reality is always desirable b. Reality is not always desirable

c. Reality is always disappointing d. Reality is not always disappointing
YY. What is the significance of the fur in "Miss Brill"?

a. It symbolizes Miss Brill b. It stands for Miss Brill's friend

c. It shows Miss Brill's wealth d. It is a piece of cloth
YY. In "The Immortals" by Luis Borges, what kind of point of view is used?

a. Omniscient b. Limited omniscient c. Objective d. First person
Y £, What underlying philosophy does Borges imply through "The immortals"?

a. Body prevents soul from salvation b. Both soul and body are mortal

c. Soul is body's reflection d. Soul is the essence which is immortal
Yo, Which one of the followings is not the characteristic of the theme?

a. Theme must be expressible in the form of a statement

b. The theme must be stated as generalization about life

c. Theme must be a familiar saying in the everyday life

d. Theme is the central and unifying concept of the story
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Y1. Define the static character?

a. The stereotyped figure that is immediately known

b. He undergoes a permanent change in some aspect of his character

c. He is complex and many sided

d. He is the same sort of person at the end of the story as he was at the beginning
YV. How is a character presented indirectly?

a. Through the other characters b. Through his speech and appearance

c. Through his action d. through the theme
YA. To be called a symbol, an item must suggest a meaning different in kind from its
literal meaning, which of the followings add to the definition of a symbol?

a. It is the central message the author tries to convey to the reader C

b. It may have more than one meaning.

c. It is the way the author tells the story.

d. Some discrepancy is seen in its meanings
Y4. Which one is the definition of the irony of situation?

a. There is a discrepancy between appearance and reality

b. There is a difference between what is said and what is intended

c. There is a discrepancy between thought and speech

d. There is a distinction between what a character says and what the reader knows
¥+, What is the difference between sentimentality and emotion?

a. Sentimentality is extended emotion

b. Sentimentality is the expressed emotion

c. Sentimentality is faked emotion

d. Sentimentality is indirect but emotion is direct
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